K-1000-H
COMPLETE SHEET METAL

MAINTAINERS TOOL BOX
KIT CONTENTS

& 'FASTENING SYSTEMS 4 1o 4
W(TWDFS INTERNATIONAL, ¢ o s

Cage Code 64878 GSA Contract GS-06F-0009L

1206 East MacArthur St. - PO Box 1372 - Sonoma, CA 95476 - Tel: 800-344-2393 - Sales@fsirivet.com




K-1000-H
COMPLETE SHEET METAL

MAINTAINERS TOOL BOX
KIT CONTENTS

Dl‘awel' 1 Item # QTY Description Part #

1 1ea | Hole Finder 6-1/4" OAL #40 Bushing Type | ALHF-40

o o 2 1 ea | Hole Finder 6-1/4" OAL #30 Bushing Type | ALHF-30
nght Slde 3 1ea | Hole Finder 6-1/4" OAL #21 Bushing Type | ALHF-21
4 1 ea | Hole Finder 6-1/4" OAL #10 Bushing Type | ALHF-10
5 1 ea | Hole Finder 6-1/4" OAL 1/4" Bushing Type | ALHF-1/4
6 1 ea | Hole Finder 6-1/4" OAL #40 Inverted Type | ALHF-40-I
7 1 ea | Hole Finder 6-1/4" OAL #30 Inverted Type | ALHF-30-I
8 1 ea | Hole Finder 6-1/4" OAL #21 Inverted Type | ALHF-21-I
9 1 ea | Hole Finder 6-1/4" OAL #10 Inverted Type | ALHF-10-I
10 1 ea | Hole Finder 6-1/4" OAL 1/4" Inverted Type |ALHF-1/4-|
11 1ea 518-A Nut Plate Jig F518-A
12 1ea 518-B Nut Plate Jig F518-B
13 1ea 518-C Nut Plate Jig F518-C
14 1ea 518-G Nut Plate Jig F518-G
15 1ea 518-H Nut Plate Jig F518-H
16 1ea 518-J Nut Plate Jig F518-J
17 1ea 518-NB Nut Plate Jig F518-NB
18 1ea 518-NC Nut Plate Jig F518-NC
19 1ea 518-ND Nut Plate Jig F518-ND
20 1ea 518-PB Nut Plate Jig F518-PB
21 1ea 518-PC Nut Plate Jig F518-PC
22 1ea 518-PD Nut Plate Jig F518-PD
o WM el R RN
| ! | v L |l 3
& W s whgsh s R
oY <T lilileiiil |h""lhh ltem # QTY Description Part #
S B UL E = 23 | 1ea Camloc Pliers F4P3
24 | 1ea Cleco Pliers F74
25 |20ea #10 Clecos FK-3/16
26 |20ea #20 Clecos FK-5/32
27 |20ea #30 Clecos FK-1/8
! 28 |20 ea #40 Clecos FK-3/32
FASTENING SYSTEMS 29 | 5ea | Edge Grip Clamps 3/4-1 | F121SG

www.fsirivet.com INTERNA TIONAL, INC, 30 | 5ea | Edge Grip Clamps 3/4-1/2 |[F1212SG

Cage Code 64878 GSA Contract GS-06F-0009L
1206 East MacArthur St. - PO Box 1372 - Sonoma, CA 95476 - Tel: 800-344-2393 - Sales@fsirivet.com




K-1000-H
COMPLETE SHEET METAL

MAINTAINERS TOOL BOX
KIT CONTENTS

Drawer 2
Left Side

tem# QTY Description Part #
31 1ea Chip Chaser F200
32 |1ea Pancake Dirill Attachment F20-T023
33 | 1 ea | Hi-Lok Ratchet with Flexible Head AL3744
34 |1ea FSI Hand Hydraulic Riveter D-180
35 [1ea 90D Snake Drill Attachment F128-4
36 | 1ea Rivet Cutter F501-R
37 | 1ea 8pc Drive Pin Set F14086
38 |1ea 1/8" Collar Removers ALRCC-1/8
39 | 1ea 5/32" Collar Removers ALRCC-5/32
40 |[1ea 3/16" Collar Removers ALRCC-3/16
41 1ea 1/4" Collar Removers ALRCC-1/4
1ea Air Vac F4580

www.fsirivet.com

42
/S FASTENING SYSTEMS
+ INTERNATIONAL, inc.
Cage Code 64878 GSA Contract GS-06F-0009L
1206 East MacArthur St. - PO Box 1372 - Sonoma, CA 95476 - Tel: 800-344-2393 - Sales@fsirivet.com




K-1000-H
COMPLETE SHEET METAL

MAINTAINERS TOOL BOX
KIT CONTENTS

Drawer 2
Right Side

nyngn

56

| 'S
|
immims o

FS,

Description

ltem # QTY Part #
43 |1ea Threaded Reamer .1285 x .0980 | ALTR1285X0980
44 |1ea Threaded Reamer .1590 x .1285 | ALTR1590X1285
45 |1ea Threaded Reamer .1610 x .1250 | ALTR1610x1250
46 |1ea Threaded Reamer .1840 x .1680 [ ALTR1840x1680
47 |1ea Threaded Reamer .1990 x .1840 ALTR1990x1840
48 |1ea Threaded Reamer .2150 x .2000 ALTR2150x2000
49 |1ea Threaded Reamer .2310 x .2150 ALTR2310x2150
50 [1ea Threaded Reamer .2470 x .2310 ALTR2470x2310
51 [1ea Threaded Reamer .2500 x .2340 ALTR2500x2340
52 |[1ea Threaded Reamer .2620 x .2470 ALTR2620x2470
53 |[1ea 2" Threaded Dirill Extension ALTE2
54 [1ea 4" Threaded Drill Extension ALTE4
55 |1ea Sheet Metal Gauge F20
56 [1ea Hook & Pick Set PH-4
57 |1ea Drill Gauge F15
58 |1ea Dimple & Die Set F3456
59 |[1ea Rivet Fan Spacing Tool F081
60 |1ea Multi Burr F22022
61 |1ea Telescoping Deburr Tool K380
62 |1ea Rev Counterbore/Countersink Kit F590STA

FASTENING SYSTEMS
wrsivetcom INTERNATIONAL, INC.

Cage Code 64878 GSA Contract GS-06F-0009L

1206 East MacArthur St. - PO Box 1372 - Sonoma, CA 95476 - Tel: 800-344-2393 - Sales@fsirivet.com




K-1000-H
COMPLETE SHEET METAL

MAINTAINERS TOOL BOX
KIT CONTENTS

Drawer 3
Left Side

ltem # QTY Description Part # ltem# QTY Description Part #
63 | 1ea Jo-Bolt Removal & Installation Kit (Hand) F3060RIK 80 | 6ea #40 Stub Threaded Drill Bit ALTD-40-S
64 1ea 2" Threaded Drill Extension ALTE2 81 1ea Hi-Lok Removal & Installation Kit F3539A-8
65 1ea 4" Threaded Drill Extension ALTE4 82 1 ea | Removable Socket for Frangible Collars 5/32" AL-HLC-5
66 | 6ea 1/4" Long Threaded Dirill Bit ALTD-1/4-L 83 | 1ea | Removable Socket for Frangible Collars 3/16" AL-HLC-6
67 | 6ea 1/4" Short Threaded Drill Bit ALTD-1/4-M 84 | 1ea | Removable Socket for Frangible Collars 1/4" AL-HLC-8
68 | 6ea 1/4" Stub Threaded Drill Bit ALTD-1/4-S 85 1ea Threaded Hi Shear Collar Removers 3/16" ALCC-3/16
69 | 6ea #10 Long Threaded Dirill Bit ALTD-10-L 86 1ea Threaded Hi Shear Collar Removers 1/4" ALCC-1/4
70 | 6ea #10 Short Threaded Drill Bit ALTD-10-M 87 1ea Threaded Hi Shear Collar Removers 5/16" ALCC-5/16
71 | 6ea #10 Stub Threaded Drill Bit ALTD-10-S 88 | 1ea Knock Out Punch 1/8" ALRGP-1/8-L
72 | 6ea #21 Long Threaded Drrill Bit ALTD-21-L 89 1ea Knock Out Punch 5/32" ALRGP-5/32-L
73 | 6ea #21 Short Threaded Drill Bit ALTD-21-M 90 | 1ea Knock Out Punch 3/16" ALRGP-3/16-L
74 | 6ea #21 Stub Threaded Drill Bit ALTD-21-S 91 1ea Knock Out Punch 1/4" ALRGP-1/4-L
75 | 6ea #30 Long Threaded Drrill Bit ALTD-30-L 92 |12ea #40 Cobalt Drill Bit ALJBD-40
76 | 6ea #30 Short Threaded Drill Bit ALTD-30-M 93 [12ea #10 Cobalt Drill Bit ALJBD-10
77 | 6ea #30 Stub Threaded Drill Bit ALTD-30-S 94 [12ea #30 Cobalt Drill Bit ALJBD-30
78 6 ea #40 Long Threaded Drrill Bit ALTD-40-L 95 |12 ea #21 Cobalt Drill Bit ALJBD-21
79 | 6ea #40 Short Threaded Drill Bit ALTD-40-M 96 |12ea 1/4" Cobalt Drill Bit ALJBD-1/4

/= S/ FASTENING SYSTEMS
s iocsom INTERNATIONAL, e

Cage Code 64878 GSA Contract GS-06F-0009L

1206 East MacArthur St. - PO Box 1372 - Sonoma, CA 95476 - Tel: 800-344-2393 - Sales@fsirivet.com




K-1000-H
COMPLETE SHEET METAL

MAINTAINERS TOOL BOX
KIT CONTENTS

[ ] [ ]
D rawer 3 nght Side s Description Part #
113 | 1ea 4" Threaded Drill Extension ALTE4
114 |12 ea 1/4" Cobalt Drill Bit ALJBD-1/4
115 | 1ea #10 Drrill Stop ALDS-10
115 | 1ea #21 Drill Stop ALDS-21
115 | 1ea #30 Drrill Stop ALDS-30
115 | 1ea #40 Drill Stop ALDS-40
115 | 1ea 1/4" Drill Stop ALDS-1/4
116 [12ea #10 Cobalt Drill Bit ALJBD-10
117 | 1ea 100D Zero Flute Countersink Cutter 3/32-1/4 ALDT-5/32
117 | 1ea 100D Zero Flute Countersink Cutter 1/8-27-64 ALDT-1/4
117 | 1ea | 100D Zero Flute Countersink Cutter 3/16-35/64 ALDT-9/16
118 [12ea #21 Cobalt Drill Bit ALJBD-21
119 [12ea #40 Cobalt Drill Bit ALJBD-40
120 (12 ea #30 Cobalt Drill Bit ALJBD-30
121 | 6ea 1/8" Blind Hole Spotters ALBHS-1/8
121 | 6ea 5/32" Blind Hole Spotters ALBHS-5/32
ltem# QTY Description Part # 121 | 6ea 3/16" Blind Hole Spotters ALBHS-3/16
97 | 6ea #40 Long Threaded Drill Bit ALTD-40-L 121 | 6ea 1/4" Blind Hole Spotters ALBHS-1/4
98 | 6ea #40 Short Threaded Drill Bit ALTD-40-M 122 | 1ea Angle Drill Collet Chuck Kit ALAC-6
99 | 6ea #40 Stub Threaded Drill Bit ALTD-40-S 123 | 6ea #5 Cobalt Drill Bit ALJBD-5
100 | 6ea #30 Long Threaded Drill Bit ALTD-30-L 124 | 6ea #7 Cobalt Drill Bit ALJBD-7
101 | 6 ea #30 Short Threaded Drill Bit ALTD-30-M 125 | 6 ea #16 Cobalt Drill Bit ALJBD-16
102 | 6 ea #30 Stub Threaded Drill Bit ALTD-30-S 126 | 6ea #19 Cobalt Drill Bit ALJBD-19
103 | 6ea #21 Long Threaded Dirill Bit ALTD-21-L 127 | 6ea #27 Cobalt Drill Bit ALJBD-27
104 | 6ea #21 Short Threaded Drill Bit ALTD-21-M 128 | 6ea G Cobalt Drill Bit ALJBD-G
105 | 6ea #21 Stub Threaded Drill Bit ALTD-21-S 129 | 1ea | Unibit #1 13 Holes 1/8" to 1/2" for 1/8" thickness F10101
106 | 6ea #10 Long Threaded Drill Bit ALTD-10-L 130 | 1ea | Unibit #2 6 Holes 3/16" to 1/2" for 3/8" thickness F10102
107 | 6ea #10 Short Threaded Drill Bit ALTD-10-M 131 | 1ea | Unibit #3 9 Holes 1/4" to 3/4" for 1/8" thickness F10103
108 | 6ea #10 Stub Threaded Drill Bit ALTD-10-S 13p | €2 45D Threaded Angle DFEig ':‘Aor 1/4-28 Thread, 2800 | g ho000.45T
109 | 6ea 1/4” Long Threaded Drill Bit ALTD-1/4-L 1 oa | 90D Threaded Angle Drill for 1/4-28 Thread, 2800
110 | 6ea 1/4" Short Threaded Drill Bit ALTD-1/4-M 133 | 1ea RPM FSD2800-90T
111 | 6ea 1/4" Stub Threaded Drill Bit ALTD-1/4-S 134 | 1ea Micro-Stop Countersink Kit F590
112 | 1ea 2" Threaded Drill Extension ALTE2 135 | 1ea Drill Bushing Kit F590DBK

/= S/ FASTENING SYSTEMS
s iwoceom INTERNATIONAL, Ic.

Cage Code 64878 GSA Contract GS-06F-0009L

1206 East MacArthur St. - PO Box 1372 - Sonoma, CA 95476 - Tel: 800-344-2393 - Sales@fsirivet.com




K-1000-H
COMPLETE SHEET METAL

MAINTAINERS TOOL BOX
KIT CONTENTS

Drawer 4
Left Side

Description

ltem# QTY Part #
136 | 1ea Die Grinder, Air, 1/4" Collet FDG10S25F
137 |1ea Air Body Saw FS0822
138 | 1Pk Body Saw Blades FS24S-B
139 |[1ea Spare Parts Container N/A
140 |1ea Chisel Retainer Spring F2207
141 1ea 25ft Coil Hose F1326B
142 |1ea Pneumatic Shears FSH10P18
143 |1ea Rivet Shaver Kit F1900RSK
144 | 1ea 1/4" Drill, 4000 RPM Pistol Grip FDR4000
145 | 1ea| 1/4"Rev Drill, 2600 RPM Pistol Grip | FDR2600R
146 1ea Rivet Hammer FRG-4X

o’ FASTENING SYSTEMS
WV(TWZ?F?S‘,,. INTERNATIONAL, iNc.

Cage Code 64878 GSA Contract GS-06F-0009L
1206 East MacArthur St. - PO Box 1372 - Sonoma, CA 95476 - Tel: 800-344-2393 - Sales@fsirivet.com




K-1000-H
COMPLETE SHEET METAL

MAINTAINERS TOOL BOX
KIT CONTENTS

Drawer 4
Right Side

ltem# QTY Description
147 |1 Set 120 Grit Sanding Sleeves SDK15-F
148 |1 Set 50 Grit Sanding Sleeves SDK15-C
149 | 5ea 2" Abrasive Pads 60 Grit F587-60
150 [ 1ea 1/2 x 1/2 Drum ALSD-1/2x1/2
151 | 5ea 2" Abrasive Pads 120 Grit F587-120
152 | 1ea 3/4 x 1 Drum ALSD-3/4x1
153 | 5ea 2" Abrasive Pads 240 Grit F587-240
154 | 1ea 1 x 1 Drum ALSD-1x1
155 | 5ea 2" Abrasive Pads 320 Grit F587-320
156 | 1ea 1-1/2 x 1-1/2 Drum ALSD-1-1/2x1-1/2
157 | 1ea 2" Back Up Pad F587M
158 | 1ea 2 x 1-1/2 Drum ALSD-2x1-1/2
159 | 1ea FSI Hand Hydraulic Riveter D-180
160 | 1ea 8 pc Rotary File Set F912
161 | 1ea 5" Orbital Sander FOS-50CNP
162 | 1ea Pnuematic Nibbler FSN1444
163 | 1ea 6 oz Retainer F04091
164 | 1ea | Sealant Gun w/ 2-1/2 oz Retainer F04076
165 | 1 ea |1/4" Rev Drill, 2600 RPM Pistol Grip FDR2600R
166 | 1ea Right Angle Sander FDG221-90
1ea Double Edge Deburr Tool F22060

S/ FASTENING SYSTENS
s iocsom INTERNATIONAL, e

Cage Code 64878 GSA Contract GS-06F-0009L

1206 East MacArthur St. - PO Box 1372 - Sonoma, CA 95476 - Tel: 800-344-2393 - Sales@fsirivet.com




K-1000-H
COMPLETE MAINTAINERS TOOL BOX

Drawer 5
Left Side

ltem # QTY Description
168 | 1ea Rivet Set 1/4" x 3-1/2" OAL ALRS-1/4-3.5
169 |1ea Rivet Set 3/16" x 3-1/2" OAL ALRS-3/16-3.5
170 |1ea Rivet Set 5/32" x 3-1/2" OAL ALRS-5/32-3.5
171 |1ea Rivet Set 1/8" x 3-1/2" OAL ALRS-1/8-3.5
172 | 1ea Rivet Set 3/32" x 3-1/2" OAL ALRS-3/32-3.5
173 |1ea Rivet Set Flat x 3-1/2" OAL ALRS-F-3.5
174 | 1ea Rivet Set 3/4" Mushroom ALRS-3/4F
175 [1ea Offset Rivet Set 1/4" x 3-1/2" OAL ALRS-1/4-3.5-0
176 |[1ea Offset Rivet Set 3/16" x 3-1/2" OAL ALRS-3/16-3.5-0O
177 |1ea Offset Rivet Set 5/32" x 3-1/2" OAL ALRS-5/32-3.5-0
178 |1 ea Offset Rivet Set 1/8" x 3-1/2" OAL ALRS-1/8-3.5-0
179 | 1ea Offset Rivet Set 3/32" x 3-1/2" OAL ALRS-3/32-3.5-0
180 | 1ea Offset Rivet Set Flat x 3-1/2" OAL ALRS-F-3.5-0
181 |1 ea | Cordless Riveter w/ 3/16" Blind Bolt CED Pulling Head |PT-4000H-4307-6CED
182 |1ea 5/32" Blind Bolt CED Pulling Head F4301-5CED
183 |1ea 1/4" Blind Bolt CED Pulling Head F4313-08CED
184 [1ea Hand Riveter Kit w/ 3 Yokes F420-123A
185 | 1ea Bucking Bar FBB111
186 | 1ea Bucking Bar FBB670
187 | 1ea Bucking Bar FBB760B-2
188 | 1ea Bucking Bar FBB669
189 | 1ea Bucking Bar FBB720

/= S/ FASTENING SYSTEMS
S worsom INTERNATIONAL, e

Cage Code 64878 GSA Contract GS-06F-0009L
1206 East MacArthur St. - PO Box 1372 - Sonoma, CA 95476 - Tel: 800-344-2393 - Sales@fsirivet.com




K-1000-H
COMPLETE SHEET METAL

MAINTAINERS TOOL BOX
KIT CONTENTS

Drawer 5 PR Ao R
Right Side 3 Blind Fasce?;egrol?gt’rli:;fionTool Kit

NSN 5180-01-470-6539

ASTENING SYSTEMS
INTERNATIONAL

Item# QTY Description Part #
190 1ea Rivet Set Kit F26
191 1ea D-9000-MIL-2 D-9000-MIL-2
192 1ea 3X Rivet Hammer FRG-3X
193 1ea 3/8"Allen Wrench for Hand Rivnut Tool N/A
194 1ea Hand Rivnut Tool (10-32) AL845-1032
195 1ea Rivet Squeezer (Sioux) FRS5015

@FS FASTENING SYSTEMS

wrsivetcom INTERNATIONAL, INC.

Cage Code 64878 GSA Contract GS-06F-0009L

1206 East MacArthur St. - PO Box 1372 - Sonoma, CA 95476 - Tel: 800-344-2393 - Sales@fsirivet.com




K-1000-H
COMPLETE SHEET METAL

MAINTAINERS TOOL BOX

KIT CONTENTS

D-9000-MIL-1/D-9000-MIL-2

FASTENING SYSTEMS
INTERNATIONAL

Metric Studs/Anvils

PT-100M Tool

PT-4000 Tool

“Special CherryMax
Pulling Heads
(found vundemeath PT-4000)
*Not Included in the D-9000-MIL-1

Battery Charger

Blind Fastener Installation Tool Kit

F755-D9000

Laminated Operating
Instructions and Tool

Selection Charts

D-9000-MIL~1 / D-9000-MIL-2
NSN 5180-01-470-6538 / NSN 5180-01-470-6539
Blind Fastener Installation Tool Kit

*NOTE: Pulling heads are NOT included im the D-9000-MIL~1 Kit (NEN 5180-01-478-6538).

KIT CONTENTS KIT CONTENTS

QTY PART NUMBER DESCRIPTION QIY PARTNUMBER DESCRIPTION
1EA D-700-VM HAND HYDRAULIC RIVETER 1BA Fi74 5/16 18 PULL-UP STUD
1EA PT-100M AIR HYDRAULIC RIVETER 2EA 78 NO. 5/16 ANVIL
1EA PT-4000 CORDLESS RIVETER 1EA 777 5/16-24 PULL-UP STUD
1EA D-28 HAND RIVETER i 3 :’;g ﬁlﬁ PULL-UP STUD
1EA F- BATTERY CHARGER 124 SWANV“' e
2EA F-3001A BATTERY PACK Figd PULL-UP STUD

1EA F365M 5 MM ANVIL
1EA F156 3/32-1/8 NOSEPIECE

1EA F380 6MM PULL-UP STUD
1EA F159 1/8 NOSEPIECE

1EA F366M 6 MM ANVIL
4EA F143 1/8-3/16 NOSEPIECE LEA ey £ MM PULL-UP £TUD
1EA F142 1/4 NOSEPIECE 1EA FaTSM £ MM ANVIL
1EA F168 3/16 MONOBOLT NOSEPIECE 1EA 57 10 MM PULL-UP STUD
1EA F169 1/4 MONOBOLT NOSEFIECE 1EA FiT9M 10 MM ANVIL
1EA F580 3/16 MS NOSEPIECE 1EA FIT0-A MA
1EA F396 3/16 BULBTTTE NOSEPIECE 1EA FI7l TURN NUT
1EA F398 1/4 BULBTITE NOSEPIECE 1EA F187-3BCM ADAPTER SHAFT
1EA F155 1/4 “T” RIVET NOSEPIECE } 5 :}:?’*1“1\94 ADAPTER SHAFT ASSY
1EA F390 3/32 NAS 1400A NOSEPIECE - ADAPTER SLEEVE
1EA F391 1/8 NAS 1400A NOSEPIECE T N aF A s
1EA F392 5/32 NAS 1400A NOSEPIECE R AFIE T STRPCLIIN. HD
1EA F393 3/16 NAS 1400A NOSEPIECE TEX  TAElos I AN E LG D
1EA F501 1/8 NAS 19008 NOSEPIECE 1EA *F1076 OFFSET PULLING HD
1EA F502 5/32 NAS 19008 NOSEPIECE 3EA FI02 SPARE PARTS
1EA Fs503 3/16 NAS 19008 NOSEPIECE 1EA Fl128 BLIND BOLT JAW HOLDER
1EA F505U 5/32 MS90353/54-8/U NOSEPC 3EA F122-A 2 PIECE JAW SET
1EA F506 3/16 MS90353/54-S/7 NOSEPC 3EA FI123 3 PIECE JAW SET
1EA F360 632 PULL-UP STUD 1EBA FI23-A 3 PIECE JAW SET/ BB 5/32
1EA F367 NO. 6 ANVIL 1EA FI23R 3 PIECE JAW SET/ BB 3/16
1EA 1 PULL TUD 1EA F758 JAW PUSHER BB, D-
1EA Eg‘, ;’gs ANVRP § 1EA 958 JAW PUSHER. PT-100
THA b O e POE AT ST 2EA 90 JAW PUSHER SPRING, PT-100
1EA F176 NO. 10 TSN ANVIL 1Ex Fodte repd

2BA FI081-A JAW PUSHER SPRING
1EA F362 10-32 PULL-UF STUD 1EA F101 RIVET NUT STROKE GAGE
1EA £365 NO. 10 ANVIL 1BA F269C3 RIVET GRIP GAGE
1EA 137 1/4-20 PULL-UP ETUD 1EA F609A METAL WEATHER TIGHT CASE
Lies Fla3 O L4 LAY ANVIL 1EA F701-D9 CD-ROM, USER MANUAL
LEA B 1428 PULL-UP §TUD 1EA F754-D9000 OFERATING INSTRUCTIONS
1EA F366 NO. 1/4 ANVIL 1EA F755-DS000 LAMINATED TOOL ASSY CARDS




